. Codefez Logic Gate Worksheet 1 Answers

Answer Mark | Guidance
3
A|B|C|D|E|Q
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1 mark per correct column
Q = NOT (C AND (A AND B)) 2
1 mark for
e CAND (AANDB)
e Using the NOT before the C AND (A AND B)
1 mark for 2

e Correctly identify the truth table as an OR logic gate
e For drawing an OR gate

This Photo by Unknown Author is licensed under CC BY-
SA



https://fi.wikipedia.org/wiki/Disjunktio
https://creativecommons.org/licenses/by-sa/3.0/
https://creativecommons.org/licenses/by-sa/3.0/

—|lo|lo|lo|r|olo|o|o
O|IRIO|IFR|IO|FR|IO|FRrMm

=l =1 e}

1 mark for each correct column

Either answer is acceptable 2
e Q=(A&B)ORNOTC
e Q=NOTCOR(AANDB)
1 mark for
e NOTC
e Correct using OR
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A|B|C|D|E|F|G|Q
0/{0]j]0|0|0|0|1]1
0/{0|j0|1]|]0|0]1]1
0/{0]1|]0]|0|0]1]1
0/{0|]1|]1]|]0|1]0]O0
0[{1]0|]0]|0|0]1 |1
0/{1]0|1]|]0|0]1]1
0[{1]1]0|0|01]1
0|1]1|]1]|]0|1]0]O0
11]0/({0(0|0|0|1]1
11]0/(0(1|0|0|1]1
11]0(1(0|0|0|1]1
11]0(1(1(/0|1]0]0
11]1/0(0|1|0|1]1
11]1/0(1|1|0|1]1
111(1(0|1|0|1]1
1(1/{1(1 11|01

1 mark for each correct column

Either answer is acceptable
e Q=(A&B)ORNOT (CAND D)
e Q=NOT(CAND D) OR (A AND B)

1 mark for
e NOTCANDD
e AANDB
e Correct using OR
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8 2
A
B
P
1 mark for
e An AND Gate which takes as an input the result of A AND B
e .. AND the result of NOT B
9 3
A B AANDB | NOT B
0 0 0 1
0 1 0 0
1 0 0 1
1 1 1 0
1 mark for each correct column
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